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9.

OR(3721d1)

Explain Internet and DSN in detail.

SIexeIT dAT S U9 UA (SH9 | %) &l
fawar @ wusnd |

Explain all the three different multiplexing

techniques in detail

foear @ ot A9 st g faaT
db-dl B AT Y |
OR(3721dT)

Differentiate between Terrestrial and Satellite

communication in detail.

Tl 3R SUUE IR & §1d & 3IdxX D)
fawar @ aareT &Y |

Explain different layers of OSI model in detail.
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- Sem -V/CSE
Time : 3Hrs. Data Comm. & Network

Full Marks : 70
Pass Marks : 28
Answer all 20 questions from Group A, each question
carries 1 marks.
Ju-A ¥ afl 20 ¥ B SR T, IAP U BT 9F 1 352 |
Answer all Five questions from Group B, each question

carries 4 marks.

9B & @t ufg uel & IR <, UAS U & 9H 4B 2 |

Answer all Five questions from Group C, each question

carries 6 marks.

7u-C & uft ufg gl & SR <, IS U BT 99 635 2 |

All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.
TP Ued & 9 39T BT SR TP &) S8 (AR HH H)

BT A1y, =92 4 Sifd -8l oI 9ad 2 |

The figure in right hand margin indicate marks.
¥ ursd @ e QUile & qad 2 |
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4. What is the diference between a direct and () qg difae g 2 o9 W) te 9o
indirect delivery ? 4 ITAT BT © |
) (31) T
?
g 3R yae faaver & = dar far ?- (q) wre
SIRIECIG]
OR(3721d1) (3) ®c
o (i)  Home access is provided by.
What are the elements of data communication.
(a) DSL
. _ (b) FTTP
STl sRIfeTE & faft= a@l &1 foad | (c) Cable

(d) All of the mentioned
5. Why is there no need for CSMA/CD on full-duplex

Ethernet LAN? 4 (i) € Ugd Y B Wt 2|
Kl
YUl -Gl dd ZoRAT o Rl vH U g/ Al ) Z\:?ﬁ
& @ T AN
RIGEUEI : (|) ®9a
(]) Swraa w+i
OR(372rd)

(iv)  Choose the statement which is not applicable
for cable internet access

Compare the data rates for standard Ethernet, (a) It is a shared broadcast medium
Gigabit Ethernet, and Ten-Gigabit Ethernet. (b) It includes HFCs

(c) Cable modem connects home PC to
AM® A, BIe sARAce, Annfie gerAe Ethernet port
3R ST—hrfde gerde & fog Ser <7 &1 (d) Analog signal is converted to digital
R N | signal in DSLAM
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(xx) 3IMAe WRd A R fHar oar 2@
(31) 3ra gorrehl
(@) w1 ang
() gerAe
(%) SfeaiRaa & @ &Ig 1 =&

GROUPB

Answer all Five Questions.

Il uig 9 & SR < |

2.

4x5=20

What are the three criteria necessary for an

effective and efficient network?
4

Uh gHudl AR §el icad & oy razas
&9 wEs @@ @7
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(vi)

(vii)

(vii)

(viii)

5 1618502

TR Sl a) & Badr fear sidar
2

(31 Acad wRd

(@) #ifas wa

(W) Ser foie uwxa

(g) uRaed uxa

HFC contains

(a) Fiber cable

(b) Coaxial cable
(c) Both (a) and (b)
(d) None of these

T U ) A e @
(31) ®IsR dEA

(@) gurehi o9a

(@) (31) a=m (@) <A
() ®1s o T2

A single channel is shared by multiple
signals by

(a) Analog modulation

(b) Digital modulation

(c) Multiplexing

(d) None of these
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IR faawor yomeft #

(1) voIfere uga fdg U gk & ard
9IS 8¢ @

@) ®1$ uga fig 7d 2

(@) ®ae TH ugd fig #ige @

(2) Sfoafaa & |4 +1g Y 78T |

A wireless network interface controller can
work in

() Infrastructure mode

(b) Ad-hoc mode

(c) (a) and (b) both

(d) None of the mentioned

Udh dRRAN Acdd 3y Fae &M
X Ghd B

(31) SMERIA HEAT HIS

(@) vs—gf® wrs

(&) (1) dr (@) <=l

(%) SfeafRaa & @ 1 LT

The Dos attack is which the attacker
establishes & large number of half-open or
fully open TCP connections at the target host
(a) Vulnerability attack

(b) Connection flooding

(c) Bandwidth flooding

(d) All of the above

NT5022

x)

(xi)

(xi)

(xii)

7 1618502

arferd <levrd RIg Ffe gdeq a3
§RT Ug far < 2 |

(@) arfes foie =0T GeadaR

(@) fafsaw s =T geawR

(¥) ica® SXBY T GeaiR

(?) ®1$ +H |

Which of the following is aversion of UDP
with congestion control?

(a) Datagram congestion control protocol
(b) Stram control transmission protocol

(¢) Structured stream transport

(d) None of these

HoieE FEaer @ e f=fafaa o
| B a1 g BT GEHIT 2?

(31) ST His AT gieiaid

(@) arT =0T FaRT gietdid
GIENCERINRITCES]

(@) T A @iIg &

Which one of the following is not used to
generate dynamic web pages ?

(a) PHP

(b) ASP. NET

(c) JSP

(d) None of these
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10.

3 v IS Hisd & fAf—~ ural &) faar
A AT B |

OR (3121a1)

Explain Guided and unguided medium in detail.

MTsSS Ud IAASSS AEYH Hl faar 4
S |

Compare the TCP header with UDP header. List the
fields in the TCP header that are missing from

UDP header.
6

g 3 f s @ wrea & A Y SR B g
| AWM N D I wies & gHag =
S, g S d) gsv 4 A9 B |

OR(37214)

Explain any one routing algorithms in computer

networks.

P.T.O
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A v IS Hisd & faf~ Ral & faarR
A AT B |

OR (312141)

Explain Guided and unguided medium in detail.

MTgSS Ud IJsSs dreyq &l faar 4
IS |

. Compare the TCP header with UDP header. List the

fields in the TCP header that are missing from

UDP header.
6

q S f s @ iy & W @ ISR B g
| AWM N D AN wies o ghag =
S, g S 41 gex A €l 2 |

OR (3721dT)

Explain any one routing algorithms in computer

networks.
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